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Reg. No,
Halt-yearly Common Examination, December-2017

12th S| PART - 111 ACCOUNTANCY Time Allowed : 3 Hours

(Maximum marks': 200)

Instructions: (I}. Checek the question paper for fairness of printing . If there is any
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o« ek of fairness, inforn the Hall Supervisor immediately.
(). Use Black or Blue ink to write and underline and pencil to draw diagrams

Part - A 30 » 1=30
Answer All the questions
nthe Blanks ;
Gross profitis transterred o ===avee- account.
Interest on Drawings is debited in -=----== account.
As perTrial Balanee on 1.4.2008 Investments amounted to Rs. 2,00,000 Interest on
investment is 10% per annum. Interest received Rs. 15,000 on 31.3.2009 Accrued
INETEstON IMvestments is -=----- :
e capital can be found by preparing a statement of affairs at the beginning of
1¢ year,
Credit purchase can be ascertained as the balancing figure in the ------- y
Under Insurance Policy method, cash is paid by way of ------- every year.
The selling price ofa fixéd asset is Rs. 3,()().(&0(). Loss onsale of the asset1s Rs. 60,000.
Its book value on the date of sale is -
Stock tumover ratio is otherwise called as ==----- :
Gross profit Rs. 50,000 ; Sales Rs. 5,50,000 ; Sales returns Rs. 50,000 Gross
ONL Ao 18 ====n=, .
“losing balance of one month will be the -------- balance of the next month.
The dctl.m balance of current account, will be shown in the ------- side of the
balance sheet. :
When the value of an asset increases, it results in —. )
Ganesh, Kumar and Sudhan share the profits in the proportionof 1/2, 1/3, 1/6
respectively, If Kumar retires, then the new profit sharing ratio is --------- :
Nominal Capital is the capital mentioned in the -------- ofthe company.
A com;):mv 1ssued 60,000 equity shares of Rs.10 each. The public subscribed |

50,000 shares. Unsubscribed capital is Rs. --------- . 1
1I. Choose and write the correct answer. ) |
16.  All the items given in the adjustment will appear at ------- in the final accounts.
Sa) Three places (b) Two places éc) One place ) i
17.  The trial balance as on 31.03.2015 shows sundry debtors Rs.3.06,000. "Nrite off
bad debts Rs.6,000. Provide 5% for bad and doubtful debts. The amowi’ of
rovision for bad and doubtful debtsis: (a) 15,000 (b) 15,300 (c) 18,060
18.  Under the networth method, the basis for ascertaining the profitis :
(g the difference between the L_‘Zl{)}l_ﬂl_ on two dates
the difference between the liabilities on two dates
¢) the difterence between the %)mss assets on two dates
19. E\s on 1.4.2009 Sundry Debtors balance is Rs.30,000. At the end of the year Sundry
Debtors balance is R$.70,000. During the year cash received from the debtors is {
Rs.2.00.000 credit sales during the year is --------- . ‘
(lu) Rs.1,00.000 (b) Rs.3,00,000 (c) Rs.2,40,000
20. Thetermdepletionis used for:
Ga) Intangible assets  (b) Fixed assets  (c) Natural resources |
21. The costofa Machinery is Rs.1,00,000. Depreciation is provided at 10% annually !
- on the straight line method. The book value of the machinery at the end of second 1
year is -—-----. (a) Rs.80,000  (b) Rs.90,000 ~ (c) Rs.81,000
22. Total Sales Rs.10.00,000 ; Gross Broﬁt Rs.2.80,000. Then cost of goods sold is ==,
' (a) Rs.12,80,000 (b) Rs.7,20,000 (c) Rs.10,00,000
23, Allactivity ratios ar¢ expressed interms ol :
81) Proportion ) fb Times (c) Percentage
24, Cashbudget deals with ; .
a) Estimated cash receipts jb Estimated cash payments
¢) Estimated cash receipts and Estimated cash payments
25.  Intereston capital is calculated on the ----=--~. .
\ ﬁul) Opening capital )? Closingcapital _(c)Averagecapital
26.  The old partners share all the accumulated profits and reserves in their =-=----,
&a)]Ncw profit sharing ratio  (b) Old profit sharing ratio  (c) Capital ratio
27.  When the amount due 1o an outgoing partner is not paid immediately, then it is
transferred to : ~ (a) Capital ./%/c (b) CashA/e  (c) LoanA/c
28. Acc‘g;ding 10 {) abl@ .in crc(s)})/charng on calls-in-arrears i§ --==---- .
a c (]
29. \) 1 (b) 5o ) en for more than --=---- days.

A public issue cannot be kept o .
(a) 10 days ~ (b)3 days () 5 days [PT.0.
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30. Securities premium will appear in the -------— side of the Balance
(a) Asset P (b) Liabilitgp (c) Asset and Liabilities
Part - B 10 x 5=50

Note: 1). Answer any ten questions ) h
ii). Answers to theory questions not exceed fifty words eac

31. Whatis meant by adjusting entry ?

32.  Whatis Conversion method ?

33.  Whatisresidual value ?

34. Explain current ratio.

35.  Define Budget. . .
36.  State the methods of Valuation of Goodwill.
__3’%. What is meant by calls-in-advance ?

J0.

Trial Balance ason 31 3.2010 shows Insurance Premium paid Rs.16,500.
Adjustments : Prepaid Insurance Premium Rs.3.500. | accounts
Pass adjusting entry and show how this item will appear in the final acc .

39. Find out themissing figure : : ) "
Opening capital Rs.6,00,000 ; Additional capital Rs.30,000
40 Closing capital Rs.5,60,000 ; Drawings ? _Loss Rs.40,000

A company purchased furniture for Rs.20,000. The useful life is 10 years, Its
residuzﬁ v:ih?e is Rs. 2,000. Calculate the rate of depreciation under straight line

method.
41. Fromthe following details find out creditors Turnover Ratio:

Rs.
Credit Purchases 1.80,000
Opening Creditors 24,000
Closing Creditors 66,000

oodwill s to be valued at three years purchase of four years average profits. The
[))roﬁts for the last four years of the firm were
2001 — Rs.22,000 ; 2002 — Rs.28,000 ; 2003 —Rs.26,000 ; 2004 — Rs.24.000
Calculate the amount of goodwill. . . i .
43. John, Peter are partners sharing profits in the ratio of 3 : 2 regpgctl\'el}'. They
admit Siva as new partner, he acquires 1/5th of John’s share and 2/5th of Peter 's share.
Calculate their New Profit Sharing Ratio.

44, Maruthi Ltd., issued 45,000 shares of Rs.100 each at a discount of 10%. Give
journal entry.

Part-C . ... 5x12=60
Note : 1). Answer any Five questions including question No. 45 which is compulsory.
ii). Answer to theory questions should not exceed 150 words each
45.(a) ~ The Trial Balanceé shows on 31.3.2012, Sundry Debtors Rs.75,000.
Adjustments: . )
i)~ * Bad debts to be written off Rs.5.000
1) Provide @ 5% provision for bad and doubtful debts and
i) © Provide (@ 2% provision fordiscount on debtors.
ass entries and show how these items will appear in the final accounts. OR
(b) Sindhumaintains books of accounts under single entry system. The following
information were provided. s

_ 3132007 Rs.|_ 313008 Re
Cash at Bank 75.000 50,000
Cash in hand _ 2000 10,000
Stock 3,00.000 3.25,000
Sundry Debtors 2,00,000 *4,00,000
Fumitire 30.000 30.000
Machinery 4,00,000 4.00.000
Sundry Creditors 6.00.000 7.00,000

During the year he introduced Rs, 1,00,000 as additional capital and withdrow
tI){s} 8;()00 per menth for domestic purpose. Depreciate fugninu*e n\l\&tl!;‘%rggnm
y 10% per year. )
A'scertgi?l th)e profit (or) loss for the year ended 31.3.2008.
46. What are the causes of depreciation ?

47.  Write notes on cash budget. Give four examples for cash receipts and give four
examples for cash payments. .. . @
48. Distinguish between sacrificing ratio and gaining ratio,
49. Mohammad & Co.. purchased a machinery for Rs.5,00,000 on 01.04.2014. Thev
%)_en; Rs.20.000 for nstalling the same. Depreciation is written off at 109 a.0n
iminishing Balance Method. On 31.03.2017 the machinery was found tobe un
%untablc z\utld sltc_)ld fo& Rs.4,1 O,()(()i()l.)L il : h
repare Machinery Account and Depreciation Account for three vears assumine
that the accounts are closed on 3 lstpMarch every year, Y assuming

50.  From the following information calculate current ratio, liquid ratio and Absolute
*  liquid ratio. : N
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Cashin hanc 30,000 | Bkt =500
Et%}?:ll?rs 3%,888 Crcdﬁg)rg ke ‘ 4%:()00

Rills Receivable 18°000 Bank overdraft 30,000

51, Akil, Mukhil Partners sharing the profits and Josses fio, Their capitals on
1 t 'Egch“ﬁgc()R()qO%s ;000 and R£.651,8(2)18 (rig;iccst;?éhl; (ﬂlugi]rrgrla_\ﬁngs du%n% the
\T!ct;r the following : and Rs.4,000 respectively. Their partnership deed provided

3\1%2 Illnéy%ro%s%)r the year ended 31.3.2008 before making the following adjustments
a) Interest on capital @ 5% p.a.
b) Interest on drawingsat 6‘%) . (Akil Rs.180 ; Mukhil Rs.120)

¢) Akil and Mukhil to get a salary of Rs.5,000 eachp.a.

how the Profit and Loss Appropriation Account and Cgpital accounts of the partners.

The directors of a company forfeited 10 Rs.10 each fully called up for
non-payment of first gzﬁl ofRs.Zr?eeé shm%oafllcliafriisel?églsks.fac r shar%. 600 of these
S.

were subsequently reissued for er share fully paid up. Pass necessary Journal
entries and show Forfeited Shares Agcomlt and Céagital Rgse

n
(S

rve Account.

.. Pat D 3 x 20 =60
Note: Answer any three questions including Question No. 53 which is compulsory .
53. (a) Thiru Sai Prabhu kept his books of under Single Entry System. From the followin
details prepare Trading, Profit and Loss Account for the year ended 31st Marcn,
2012 and Balance Sheet as on that date : '

Particulars 1.4.2011 Rs. 31.3.2012 Rs.

undry Creditors 38,000 ’ 44,250

Furniture 3,000 3,000

Cash ‘ 6,750 9,500

Sundry Debtors 63,000 88,000

Stock 125,500 13,000
Other details : Rs.
Drawings_ | 10.500
Discount Received , 4,250
Discount Allowed 3,000
Cash received from Sundry Debtors 1,335,500
Cash paid to Sundry Creditors 1,13,000
Sales Returns 4,250
Purchases Returns _ 1,750
Wages 2,000
Trade Expenses 5,000
Sundry Expenses 2,250

Charge depreciation on furniture 5% OR’

() Vinaya' am and Kandan are partners sharing profits and losses in the ratio of 6:4.
They admit Varadhan as partner with 1/3 share in profits. :
Balance Sheetason31.12.2010

Liabilities Rs. Assets Rs.
Sundry Creditors 59.000 | Cash — . 9,000
Bills Payable 6,000 | Landand Building 25000
Capitals: 50,000 g{ﬁand Machincry igggg
Xglf 35,000 21;2888 Eun rlgdebt_ors 20,000 ’
ess : ’rovision
Geisil KESTee 0% 1 Bor doubttul debts 1000 19,000
y ' Goodwill 10,000
| Profitand LossAlc 28.000
1,36,000 1.36,000

Thev admit Varadhan as a new partner on the following terms with effect from

Ist 2011. _ .
i§ %1;&&%% shall bring Rs.25,000 as capital.
i) Goodwill of the firm was valued at Rs.26o,000.
lil)% Land and Bix)illding t(aie a ;é{lelcr:llea;t;% }tB)i 8& .
a .
-IV\S IT)ﬁg rpfzrcc:f}%giona ?;ra cllloubtful debfs was to be increased by Rs.800.

i dry Creditors Rs.1000.
vr% Xa"ffe?/g&‘ﬁgf erécgymn, Capital Accounts, Bank Account and the new

Balance Sheetason 1.1.201 1 after the admission of Varadhgn.
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54.  Fromthe following Trial Balance of Tmt. Thutasi as on 315t March 2003, prepare
Trading, Profit and'l oss Account and Balance Sheet ey
Debit balances | Rs. Crodit balances : ,‘l‘.‘_,
Drwings T, 000 Capetal [ O0,0
Machinen 0,000 Comenission received O “'}
Cash at bank 10,000 Sales S
Cash in hand 5,000 Bank loan 4.0
Wagres 10,000 Returm outwards > AR
Purchases 80,000 Sundry creditors 40,0001
Stock (1-4-2004) 64,000 Discount received 3. 000U
Sundry debtors 40,000 1
Plant 29.000 {
Rent 4,000 |
Interest on bank loan 500 |
General expenses 12,000 !
Salunes 7.500 '
Retum mnwards 4.000 Su—
3,02.000 3,02,0004
The following adjustments are to be made
(1) Closing stock Rs.80.000
(n)  Qutstanding interest on bank loan Rs.400
() l)cprpcm;cil;xchnw.'}' 10%
(v)  Provide for Interest on capital 6%
(v)  Provide for Interest on drawings 5% .
35. Fromthe following Profitand Loss A/c of Eswari Limited caleulate the following
ratios. (1) Gross profitratio (11) Net profitratio  (ii1) Operating profit ratio
(1v) Operating ratio
Dr. Trading, Profit and Loss A/c for the vear ended 31.03.2002. Cr.
Particulars l Rs. | Particulars | Rs,
To opening stock | 10,000 | By sales 30,000
To purchases_ | 36,000 | Bitlosing stock 16,000
To gross profit ¢/d | 20,000 | |
| 06,000 | L 66,000
ToAdministrativeexpenses | 2,000 | By gross profitb/d [ 20,000
Toselling expenses 8.000 | Bydividend | 1,000
Tointerest 3.000 | Byprofitonsdesofimvestments| 1,000 |
To net profit ¢/d 9,000 : 1
| 22,000 i 22,000
56. From the following information prepare cash budget for the months March., April and
May 2009 :
Month "Credit purchases Rs. [Creditsales RsA FAdministrative and|
selling expenses Rs.|
January 7.50,000 13.00,000y! 80,000 i
February 10,00,000 13,50,000- 1,20.000 r
March 8.50,000 17,50,000 3.00,000 |
Apri 1250000 12:00.000 3:00,000 |
May 9,00,000 14.00,000 3.00,000 |
¢
Additional informations : ) )
1) Estimated Cash Balance on 1.3.2009 is Rs.8.00,000
11) Period of credit allowed by suppliers 2 months
il1) Period of credit allowed to customers 1 month
1v) Expenses are paid in the same month
v) Sale of fixed asset Rs.2,50,000 in April
57.

Shri. Guru Company Ltd., issued 40,000 Equity shares of Rs. 100 each ata discount of
10%. The amount on shares were payable as follows : :
On Aﬁplxcatxon Rs.30

On Allotment Rs.30 (with discount adjustment)
On First call Rs.20 e
OnSecondcallRs.10 )

The company received applications for 40,000 shares. All these a lica{io{xs were
allotted. Xll the money dﬁg on these shares were duly received. .pp

Pass Journal Entries, prepare Bank Account, Share C apital A/c, Discount on issue of
Shares Account and Balance Sheet.



